REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~r=2%4%t ZH=%2%
BEEOBFIHBI=UTH

PN XEEH—K HE B BRim &
BHROAYY20164F B Bk BHREIaAYYE VS. BHEOAYYA 2016/06/05 09:56 KHFERENBREFEKIS
BHemaAyYA & j A RdE Il Fig
T IiE SPiE &4 1 2 3 4 5 6 7 8 9 WIS =RIEHRITR=HJUBGELERERSESR | A | B
1 () 61)I18 X — 7R bt —3 = 4:0i0:i0i0i0i0i0:0
2 (58%) 003RA HBA| o4& B3 =3 R 4:0i0i0i0i0i0i0:i0
3 (%) 0FE wfE ] e —3 W 3i0i0i0{0i0i0i0i0
4 =) 2R M7 =R R R —_ 30200 1:i0:0.0
5 3 83fRiE i s =30 PO Esk 2i1i0i0i0i0i1io0io0
6 (#)6 88ARH 258 bz =3% PO £k 2i0i1i0i0i0i1i0i0 51 2
7 (f) 438RE & =R =D& 7R 3ioit1io0oititTioioit
8 (=) 1828H —AI EZ =ik i3 3i0i1i0i0i1:i0i{0:0
9 ()36 BIANGAKRT) =R i = 3i0i{1i0i0i1i0i0:i0
10 (= LYMEVEY vEY) = % = 3i0i1i0i0:i2i0:i0i0
E(30i1i7i0i1i6i2i0iT 5 i 2
BBk EiR BFL 2 BkE] BkEk TE R #HHR Tk [ 5mk| 5%k | B [A—V | X5 [BES AR
O SEH 1MEHEARN ED 6 29 7 0 5 2 0 1 1 0 0
£ S i 6 iRim KT 1 3 0 0 1 0 0 0 0 0
2
a
{0
i




REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~=2%4%t ZH=%2%

HBFEOBFIHBI=TH

BROAYV2016EEAXE 2016/06/05 09:56 BRERIAYVE VS. RRIAVYA (KFEBELAEFHKS)

REIAVJE Eall3 AR | Tis....
FTIIE] i &% i Ny 3 4 5 6 7 8 o R R A it RS A T B
1 (%) T4RST vk ZOER bl 3i1i1i0i0i0i0i0io0
2 (=5 45)I1E & HEk @ =RE1H hE 2:1:i2i0i0i0i1i{0i1
3 (=% 6T iEMa LA A HEE1@ %3 2i1i0i0i0i0i1i0iT
4 ()7 75NE EBE| =3@ Eiidi 2i0i0{0i1i0i0i{0i0 110
5 (=)t 89EH FE| Hxd fben 2{0i1i0i1i0i0i0i0
6 = NHEN ED PO Bk =ZD#EA 1i0i1i0i1i0i1i0i1
7 (&) NHEL = =3 W =3 2:0i0i0i0i0i0i0:i0
8 (E)A 91 At BE HL@ e | 2i1i1i0i0i0i0i0i0
9 (B TTKRE #®ith PO Ek bk 1{0i{0i0:0:0i1:0:0
10 (D)5 28/INE H=E —3 Ex 2i0i{1i{0:i0i0i0:0:0
11 ChE=p.a RBHEHF & b= Q) —3 2:0i0i{0i1i0i0i0:i0
12 €rs) 215H Fi =3 e 2:0i0i{0i0i0i0i0:i0
13 (f8)— 10HEHF A AR =75 2i{0i2:0i0i0i0:0:0
SH|25:4:9:0:4:0i4:0:3 110
B B iR BFA FEkE] Bk HE WRIT #HHR =k ([ 5mEk| 5% | KRB (A &8 [BESR P Ek B3R
S 0
< o TF 83fFHE & 6 29 9 0 0 4 0 2 4 4 0
2
iy
1%
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 g
HEIAYYA 0 0 0 1 0 0 0 1
HEOAYYVE 2 1 1 X 4
AR
aAvk2




